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Triangles

1 Mark
1. AABC ~ ADEF .If DE=2ABand BC =3cmthen EFis equal to
2. In ADEW, AB//EWif AD =4cm, DE =12cmand DW = 24cmthen the value of
DB=
3.
A D

E d F

B 4 C
In the figure the value of >
In AABC, AB=6cm] ﬁ'd@z”@ﬂﬁlf@;ﬁhm Hyure of Z4
The area of two isoscélés-trianghes/@rigdn the ratio 16:25. The ratio of their
corresponding heights is
6. AAMB ~ ACMD. Also 2ar(AAMB) = ar(ACMD)the length of MD

Find AE y

v e

N

8cm

B 6cm C 3cm D

8. In AABC, D and E are the points on side AB and AC respectively such that DE//BC
and AD:BD=3:1.IfEA=3.3cmthen AC=__

9. ABC and BDE are two equilateral triangles such that D is the midpoint of BC. Ratio of the
areas of triangles ABC and BDE is

10. In AABC, DE || BC, In the figure the value of x is
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A
X x-3
D E

x—1 x—35

B C
, , , ar(ABEC)

11. In AABC, /B =90°, BE is perpendicular bisector of ACthen —————= =

ar(AABC)

12. The altitude of an equilateral triangle, having the length of its side 12cm is
13. The straight line distance between A and B is

o' lcm
* ‘:‘5 2cm
N <er
Believe in knowle lecm
2cm
lecm
2cm a

14. If in anisosceles right-angled triangle the length of the hypotenuse is 10 cm then the
perimeter of the triangle is

15. In the given figure, AABC, DE//BC and g—g :% If AC=5.6cm, then AE =7




b c DUS
16. In the given figure, 4AB//DC and the diagonals o
ACand BD intersectat O. If 4O = (3x_1)cm,

and BO = (2x+l)cm, 4 B
OC:(Sx—3)cm and OD:(6x—5)cm, thenx =7

17. AABC ~ ADEF and the perimeters of AABC and ADEF are 30cm and 18cm
respectively. If BC = 9cm, then EF = ?

2/3/4 Marks
1. Inthe given figure, AB//DE and BD//EF, prove that DC* = CFx AC

2. Inthe given figure PA, QB andRC each is
R
perpendicular to AC SI that Pé= . 0
RC=y,QB=2z,AB=aa C=b. r)‘“OU
'Bt’l-'(‘ e 1 f\’ o fcd e ...
Prove thatl+l :l eve i Rnowieed A B c
x y z

3. Ifthree or more parallel lines are intersected by two transversals, prove that the
intercepts made by them on the transversals are proportional.
4. In A4BC, D and E are two points on AB such that AD =BE. If DP//BCand EQ//AC,

prove that PQO//AB.

5. Inthe adjoining figure, ABCD is a quadrilateral and
P, Q, R, S are the points of trisection of the sides AB,
BC, CD and DA respectively.
Prove that PQRS is a parallelogram.

A P
6. Prove that the ratio of the perimeters of two similar triangles is the same as thke ratio of
their corresponding sides.
7. The perimeters of two similar triangles are 25cm and 15cm respectively. If one side of
the first triangle is 9cm, find the corresponding side of second triangle.

8. INAABC, AD L BCand AD* = BD.CD. Prove that /BAC = 90°.

9. Ina AABC, AB= ACand Dis a point on AC such that BC?> = AC x DC. Prove that
BD =BC.
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10. In'the given figure, in AABC, /B =/C and BD=CE
Prove that DE//BC. 4

A

B C
11. Inthe given figure, DEFG is a square and /BAC = 90°. G 3
Prove that :(i) AAGF ~ADBG (ii) AAGF ~ AEFC
(ili) ADBG ~AEFC (iv) DE* = BDXEC 5 b 3 ¢
12. Two right triangles ABC and DBC are drawn on the same hypotenuse BC and on the
same side of BC. Also AC and BD intersect at P. Prove that AP x PC = BPx PD.
13. If the diagonal BD of a quadrilateral ABCD bisects both ZBand ZD. Prove that
AB  AD
BC CD
14. Prove that the ratios of area of two similar triangles is equal to the ratio of the squares

of their corresponding altitudes.

15. Prove that the ratios of area of two similar triangles is equal to the ratio of the squares
of their corresponding medians.

16. Prove that the ratios of area’of two similar triangles is equal to the ratio of the squares

of their correspondinﬁ fmﬁle bieﬁ i@@?
17. Prove that the area of an equilateral triangle described on a side of a right-angled

Believe knowledge . . .
isosceles is half the arealo\f tWe gq‘ﬁﬂa‘geral triangle described on its hypotenuse.
18. Inthe given figure, DE//BCand AD:BD=2:3. 4

Show that ar(A4ADE):ar(A4BC)=4:25

19. Inthe given figure, DE || BC and AD:DB=5:4.
Find the ratio of ar(ADFE): ar(ACFB).

20. In arhombus of side 10cm, one of the diagonal is 12cm long. Find the length of the
second diagonal.

21. In AABC, AD 1 BCsuchthat 4D* = BD.CD. Prove that AABCis right angled at A.
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In the figure given below, APQRis right angled at Q
and the points S and T trisect the side QR.

Prove that: §PT* =3PR* +5PS”

=
0 S T R

In AABC, /B =90°and D is mid- point of BC. Prove that AC* = AD* +3CD>
In AABC, ZC =90°and D is mid -point of BC. Prove that 452 — (4AD2 —3AC2)-

Inanisosceles AABC, AB=ACand BD | AC. Prove that (BD2 —CDZ) =2CD.AD-

In anisosceles AABC, AB=AC and D is a point on BC. Prove that
(4B* —4D*)=BD.CD

AABCis aright triangle in which /C =90°and CD L AB.1fBC=a,CA=b, AB=cand
CD = p then prove that (i) ¢p =ab (ii) Lz:% iz
p- a b

In AABC, ZABC >90°and ADJ_(CBproduced)- Prove that

AC? = 4B’ + BC* +2BC.BD
In AABC, if AD is median, then prove that (A32 +AC2)= 2(AD2 +BD2)

In AABC, D is midpoint of B€and AFE 1 BC.If AC > AB, show that

AB* = AD? —BC.DEhri\Bc%e ﬂiO US

. , - Believe in knowledge, .
In given figure, O is the F;cn\ltnlcnlnyf e a“"APQR

such that Z/POR =90°, OP = 6¢cm and
OR =8&cm. IfPQ =24cm and OR =26cm,
prove that APQR is right angled. 8cm

In the figure AABCis isosceles with AB = AC, M

P is mid point of BC. If PM 1 ABand PN L AC.
Prove that MP = NP.

. Two poles of height a meters and b meters are
apart. Prove that the height of the point of

a

intersection of the lines joining the top of each 1

pole to the foot of the opposite pole is given

ab
by —— meters.
a+b
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34. Ina quadrilateral ABCD, /B =90°.1f AD* = AB*+ BC? + CD*prove that ZACD =90’
35. Inthe given figure, D is the midpoint of side BC 4
and AE 1 BC.IfBC=a,AC=b,AB=c,

ED =x, AD = pand AE = h, prove that : h »
2 2
@) b2=p2+ax+a— (ii)czzpz—ax+a— _
4 4 B E x D a c
< 2 2 >

(iii)(b2+c2):2p2+%a2 (v)(b* =) =2ax

Answers
1 Mark 12. -
1. 6cm 13. 6v/3cm
§~ Scm 14. 35
. ae
X oo 15. 10(v2 + 1)cm
. 16. 2:1
5. 45 17 Teavezi
6. ACBD 18. 2rapezmm
7. 2MB 19, 5.4
8. 5V5cm - el
9. 4.4cm
10. 4:1
11. -3 .‘
o @ ° @ u °
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